g

o < = NS
TEX BN O #EE & ~=Y: 1 END
F-RR284E9 A 30 H BIE
s | AP [P L N FaEs | AP P E O mags | AP P E PN
AARAMHE | SAEAES | RAMHK HAAMHE | sEAMEY | RAHEE AZRAMHE | AEAMEHE | RAHHX
Fl “HAN | 5I8| 585 L,103| [FE AAN | 2,194 2,006 | 4,250 | [E®E EEIN 83 192 375
_SAEA 4| I—— 8 SEIN | 27 24| 51 AEA =] 2
i 522 589 1111 il 2,221 2,080 | 4,301 o 183 194 377
545 0 7 552 1,706 i) T3 | 1,744 T70 0 2 172
(T 7% H:EIN 963 929 | L,892| [TEEs AAN | 2,061 1,935 3,996 | (@£ BAN | 1487 1,468 | 2,955
SHEA 11| 61 17 SAEAL 81 13 21 AEAL 81 6| 14
s 974 935 1,909 g 2,069 1,948 4,017 gl 1,495 1,474 2,969
745 16 T 763 1,493 3 131,509 1,208 7 1,216
K “HAKN 708 701 | L,A09 | [TEFAm “HAKN | 3373 3,288 6,661 | [EK BAX [ 1048 982 2,030
SEA] 6 6 12 SHEA L 16 21 37 SAEAL 8 1T 19
i 714 707 1,421 5 3,380 | 3,309 | 6,698 i 1,056~ 9931 2,049
591 B 3 500 2,360 ! 18 | 2,392 833 7 5 845
ES “HAKN 0 0 0 Yk B:ESN 42 128 | 270 | [FHETFE AAN 40T | 219 820
SHEIA _of 0] 0 SEA 6] 0 6 AEAL 8 7 13 ]
&t 0 0 0 148 128 27 i 407 426 833
0 0 0 0 129 B 0 135 283 | 5 289
TRE= HAXN | 1,569 | 1,636 | 3,195 [F* AKX 399 412 BIT| [E&F BAKN | 22,281 | 21,827 | 44,108
HAEAL I8 6 24 SEA | 1] 51 6 AEA 66| 174 340
s 1,577 | 1,642 | 3,219 N 400 417 817 : 22,447 | 22,001 | 44,448
1271 14 6 1,201 347 0 B 343 17,492 139 T20 | 17,751
Tk :EIN 786 825 LBIT| [|5%%& AKX | 767 712 1,479 AAK . i | B
HAEA b 10 SHEA | 41 31 7 SEA o
i 792 835 | 1,627 | i 771 715 | 1,486
709 3 3 718 602 3 ! 609
ETR HAKX 508 481 989 | [EF=x “HAKN 937 958 | 1,895 N — al
AEAf 4 i i 11 AEA 2 T 9 HEANT T
g 512 488 | 1,000 N 939 965 | 1,904 2t
167 8 I I76 768 3 5 776
Kl “HAAN] 6 I 7] [FF FAK | LZ37| LISZ| 2,419 AAN | —
SAEAL 3]0 3 SHEA 18 14} 32 SEA] L
i 9 1 10 5 1,255 1,196 | 2,451 5
6 3 0 g 970 6 5 991
REF AAK | L1957 LB79| 3836 | [EE= THAK 315 323 638 R:EIN —
AEA|] 5 16 21 CAEAN 0 I 1] FEA -
B 1,962 | 1,895 | 3,857 5 ~ 315 324 639 i
41T 5 2 1,12 pATYA 0 T 253
R L HAKN | 524  HAT[ L,065 | [Fwm "HANK | 208 194 402 AEN | T
SEAL 3 —yh AEA] 2 1 AEIA i
s 527 545 1,072 i 210 195 405 B
133 i I 135 197 i 7 200




